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West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2015

PART - II
PHILOSOPHY — HONOURS
Paper - IV
( NEW & OLD SYLLABUS )
Duration : 4 Hours ] [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
Toq TUPTER T ST T LT |

o RN AT ST |

Answer Q. No. 1 and any six questions, taking two from each Group A, B& C.
17 o @3 e, «mmcﬂwv@mﬁmﬂmmmmﬁm
1.  Answer any five questions: 5x2=10
a) What is meant by existential import of a proposition ?
a3l wEa e VeI TS ¥ @R 2
b) Translate the following sentence into Boolean notation and then express it in

terms of Venn diagram :
Men and only men are rational.

ﬁﬁvmmﬁwwwmﬁmmmmm:
WW‘WWWI

c¢) Give two logical equivalences of the proposition 'A> B' in terms of
(i) '+ and '~', (i) "V’ and '~'.
‘AoB' -8 BE@ qH e FEH IH fm @ .0 @ -8 W,
(i) 'v' @ '~-aF Tl

d) What is the negation of a contingent statement form ? Give reason for your
answer.

it oo TR Fiva e 7w 2 Se e e
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PHIA(HN)-04 2
e)  What is propositional function ? Give an example of it.
TWANFE IE I 2 @ity azf Swizaa e
f) Is the following statement correct ?
fFrafrfie el & o 2
~(3x) ~ Mx = ~ (x) Mx
g)  State the principle of Existential generalisation.
e AR afs Sy 357

h) - What is meant by a 'model' of a consistent set of statements in the truth-tree
method ?

TP srafere @3t Feafes) armia NEF B’ IS P @R 2

i) Give the form of the method of concomitant variation.
R-AfRET orEfen e o |

i) What is the Addition theorem of probability ?
FTERTSE @R 3@ 3% {5 @Ry 2

Group - A
e - =
2. a) State the difference between material equivalence and logical equivalence. 3

TFoTS el ¢ (e Mo N w1 S 3w |

b)  Explain the following statement in brief : 3
"A tautology is implied by any statement."”
"ESIT I (X (P 57 TR feeiifie 21 — sievweer B |

c) Determine whether the following statement forms are tautology, self-
contradictory or contingent by means of truth-table : 3+3
TEPTRA AR b7 IS Foworey, T A1 oo o Ry 336 :
) llp-g)or]=[p>(g>or]

o i) (p.~p)lg.~q)

d)  Test the validity of the following argument by truth-table method :

If the weather is cold or the sky is cloudy then either we go shopping or we

g0 swimming. It is not the case that if we do not g0 shopping then the sky is
not cloudy. So either the weather is ¢old or we g0 swimming. 3
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nﬁwmmmmmwmmwmmmmm
sirom FHCE TR | @ AW (T, T SR @ S A AR, S AP GRS
mmumzwmemm\mwwmmmml

3. a) Construct formal proof of validity of the following arguments ( Do not use
C.P. or LR.): 3x3

mmﬁammquﬁw:( C.P. @1 L.P. 9% 1 W@ A1)
iy (WoM).(IoE)
va
(Wo~E).(I>~M)/.E=~M
i) (HoP).SoW)/~.(HVvS)2(PVW)

iiij Jones will come if she gets the message, provided that she is still
interested. Although she did not come, she is still interested. Therefore,
she did not get the message. k

Waﬁ«aﬁmwmw,waﬁaﬁmammw
s | e @ IO OREe @ RAm @uRe ORI Wil TR

o @At o |
b)  Prove the invalidity of the following arguments by the method of assigning

truth values ; 3+3
Wmﬂmmﬁmmﬁammqm:
i) A=(BvC) i) Ko(L.M)

B=(CVvA) (LoN)v~K

C=(AvB) O>(Pv~N)

~A/:.BvC (~PvQ).~Q

(Rv~P)v~M/: K2R

4. a) How can the truth-tree method be used to test sentences for logical
equivalence ? Explain with example. 3

Wmmmﬂwqmmmmm«lm?mﬁw
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b)

<)

b)

c)

Use truth-tree method to test the validity of the following arguments : 4 + 4
Fepndl ol e I fEre feekn tare ofm vw -
i) Ao B :
A-> B
i)  We shall fish if it rains and swim if it does not. Therefore we shall fish
or swim.

A g 499 W qR 2N @3 WA Ao 3 A @ A 28 ) ST W g

437 S| HTOH F6A |

Use truth-tree method to determine whether the following propositions are
consistent : 4

PN RS ST T Aesa I Aeoifeniel R Rz 306w
A-(B&C),(BvC)»D

Explain with an example the method of indirect proof. 3
TR ST NRTF A S A0 336 |

Prove the following argument by C.P. : 4
C.P. fuw s Feffs s taaerm ome fim

A>(B>C(C)

B>(C>D)/.A>(B>D) "
Use the method of indirect proof to verify that the following statements are
tautologous :  4+4

T 21 FFSX MR AR F@ (A4 (F Fsfriie aemet Fosre; :
i) (A>B)v(~A>C)
i) A=[Av(A.B)

Group - B

et - 9

6.  Test the validity of the following arguments by Venn diagram indicating the mood
and figure of each of them : ; 35S

S ¢ e St I Fraffie (eelr tare cofmaa e Rom a9+

a)

b)

No men are non-mortal. All kings are men. Therefore, some kings are mortal.

CII WY TN WP | T AT ZX A | SRR (I (P TS ZH e |

This syllogism is valid, for all invalid syllogisms commit on illicit process and
this argument commits no illicit process.

% M 34, FRe A ey AW Wy e o, Ry @f s @ Ay
fferm 90|
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¢) Where there's smoke there's fire, so there's no fire in th ba
there's no smoke there. R e e

matvmm!ﬁ.qwmm‘sﬁ&aﬁmtmmgam
Ti.s.8) Stymbolise the following sentences by using quantifiers, variables, functions
etc. : 3x2
wwﬁmwwimﬁmmﬁaﬁﬁwmﬁwu@wﬁsw
i) Not all people who are wealthy are both educated and cultured.
T R o i 9P e s @ AR
( Wx, Ex, Cx)
i) A boy wins if and only if he is lucky.
aaf e ol 7u TR @3 @ T CF IR W

¢

( Bx, Wx, Lx)
iiijj  All except babies are eligible.
firea el IR CFIST |
( Bx, Ex)
b)  Construct formal proof of validity for the following arguments : 3x3

frferfire Yfeefa teeR SRS e I FHA
i (x)[(PxvTx)>Ux]
(x)[(Ux v Ex)> Mx]/ .. (x)(Px > Mx)
ii) Some red flowers are not red. Therefore, grass is green.
@R G A O A AR | SR, T
iiij Doctors and lawyers are college graduates. Any altruist is an idealist.

Some doctors are altruists. Therefore, some college graduates are
idealists.

TreR @3t SRR e WOT | @ @R PR T ORI P PR
mnom«muquwﬁmmwmﬂn

8. a) Explain with illustration the rule of Existegltial Instantiation. 6
Tz ies Rl Al e T

b) Determine the invalidity of the following arguments by the method of truth

value assignment : 3x3

SO AT Tl firsTe Yfeefm Stael e FE ¢
i) (x)[(va‘ht):~(vaVx)]

(3x)(Sx. ~Wx)

(3x)(Tx. ~ Xx)

(x)(~Wx > Xx)/ . (3x)(Ux. ~ Vx)
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ii)  All men are selfish. Ram is selfish. Therefore, Ram is a man.

N AR T TR | A TN TG | SR AN T A

iii) If anything is metallic, then it is breakable. There are breakable
ornaments. Therefore, there are metallic ornaments.

T P ey agw tof =W TW @ o1 S SR WR ) ToAe Argw tod
TG WZ |

Group - C

et - ot

9. a) What are the different ways of obtaining a proposition from a propositional
function ? Explain with illustration. )

@3 TWorES (T e e BTy 59 sMe TS S ? RIS AT IF |
b)  Distinguish between free variable and bound variable with illustration. 4

& TRT 8 IF ARPI T {167 qBIw7E fFefy o

¢)  Find a normal form equivalent of the following : 13+ 13

Fefaiie Imefie smide Riverme e w9 -
i) ~(x)(~ Ox.Px)
) ~(3x)[~(Gxv ~ Fx]]

d)  Can a variable be both free and bound in the same formula ? Give reason for
your answer. 3

(FF formula-(® (IS WMstwmmﬁ?MW
e

10. Discuss critically Mill's method of difference as a method of discovery and a
method of proof. 15

mﬁma«mmmmmmwﬁmwrmml

11. "Caus.c is used mainly in three senses." — What are the three senses of ‘cause' ?
In which sense has Copi used the word 'cause’ ? 1243

IR TS ﬁﬂﬂ;wz«mwwr'_atmwaﬁﬁ?COpmmw‘mq'
e IR T 2
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12.  Write short notes on the following : 7% + 7’15
Fraffestn Sewm wfve fim o
a)  Criteria of evaluating hypothesis
A R v
b)  Mill's method of residues.
e sifavry omsfe
13. Calculate the probability of the following events : 3x5=15
M el semme fiefy e -
a)  What is the probability of rolling three dice so that the total number of points
that appear on their top faces is 3, three times in a row ?
foft a1 v i oo Soffien o1 Reqw usrrer srmerm R R (o) T
AR FS ?
b)  What is the probability of getting (i) at least one tail and (ii) at most one tail
in 3 tosses of a coin ?
@3 e fomm fFows 3 () wwe: AT @32 i) AT 9P o o
IR IS ? 2
¢)  In a book fair there are five entrances. Four friends come to visit the book

fair. What is the probability of their entering the fair by the same entrance ?
41 IE IEBEATY A A e g | Gl (TS AP BRGH JIG AFY AT A
i eem FeRTe T 2
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